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c) Explain the problem with using the graphing method to solve a system of equations.

.5, Solve the following systems using the method of substitution.
2% +3y-9=0 | x+5y=11 ) ¥=T=y
' Cc
x-y-2=0 7 4x—-y=2 :
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Solve each of the following systems using thmion method. )
x+y-5=0 , ,l; x-2y-10=0

x—y—-3=0 3x+5y+3=0
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In question 6b), which variable did you eliminate? Solve the system again, this time
eliminate the OTHER variable. How does your method have to change? Is one way of
doing this question easier than the other? Why?

IN YOUR OWN WORDS, explain:
e how the elimination method works
e when to add and when to subtract
e when to multiply equations and how to choose which numbers to multiply by

9.  Solve each of the following system of equations using the elimination method. Some of
these systems have twists to them. Working through them will help you to develop an

even deeper understanding of th@hation method.)

) 4x-3y-17=0 b 8x=24-3y
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3x+2y=0 10-4x=y
0.4x+03y=5 LY o
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10. Solve the following systems using the method of your choice.

4x y_'6
2(x-4)+y=6 b) 3 4
3x-2(y-3)=13 5_x+y:13
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. x—5+y_-|-1=1
@, 5
x;+z_-|___=2
5 3

11, Compare the methods of graphing, substitution and elimination. Is there one method
that is better than the others? In what situation would you choose to use one method

over another?
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7. (4, =3)

9a) (2,-3) b) (%’4) c) (5, 10) d) (12, 10)
10a) (5,4) ___b) (6,8) _ o) (=4, 7)
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